
A

1 2 3 4

D

A

B

C

D

1 2 3

 
2
0
2
1
 
A
m
p
h
e
n
o
l
 
C
o
r
p
o
r
a
t
i
o
n

C

4
Creo File:APH-A3C,REV B,2021-05-07

C

 MAX1.80

 MAX7.50

( )14.40

5.
79

(
)

18
.6
2

1.
76

0.
03

(
)

10
.2
25

 M
AX

35
.3
0

7.
80
5

17
.9
95

20.85

54.08

( )14.55

( )16.85

3.
47

18.85

5.075

11
.3
0

M

0.2 A W

1.60

M1.60

(
)

1.
57

 MAX5.95
AIC REFERENCE
SEATING PLANE

2.58 0.15

0.75

0.
75

M1
.6 6.00

2.50 MAX
AFTER LOCKED

0�$�angular

0.XXX

linear 0.XXsurface

0.X

TOLERANCES UNLESS
OTHERWISE SPECIFIED

tolerance std

spec ref

sheet 1 of 4 product family

2cat. no.EDSFF 1x1, 7.805mm OFFSET, 84PIN ti
tl

e

rev
C MEX008430X01111dw

g 
no

 MINI COOL EDGE ORTHOGONAL 2PCS
projection

rel levelamphenol-icc.comappr

ecn norvwr

A32:1eng

size  scalemmMar.16,2022 Yunxdr

revision history

rev ecn no description dr date

1 - PROPOSAL YX 2019/12/18

2 - ADD P/N OPTION YX 2022/3/16

NOTES:
1. MATERIAL:
   HOUSING: HIGH TEMPERATURE THERMOPLASTIC, BLACK, UL94-V0
   CONTACT: COPPER ALLOY
   METAL FRAMEWORK: STAINLESS STEEL
2. FINISHED:
   CONTACT: MATING AREA: 0.76um MIN Au PLATED OVER 1.27um MIN NICKEL UNDERPLATED
            SOLDER AREA: 1.27um MIN TIN OVER 1.27um MIN NICKEL UNDERPLATED
3. DURABILITY: 200 CYCLES.
4. MATERIAL SHOULD BE FULFILLED AMPHENOL SPEC S-SN-002 
   FOR HALOGEN FREE PRODUCTS, ALSO NEED TO MEET S-SN-004.
5. ORDER P/N SEE P/N SYSTEM

P/N SYSTEM:
    MEX008430X01111

1: Gen3
2: Gen4
3: Gen5

5: WITHOUT M1.6 SCREW SUBASSEMBLY
7: WITH M1.6 CROSS HEAD SCREW SUBASSEMBLY
9: WITH M1.6 TORX SCREW SUBASSEMBLY

DATUM E

DATUM F
DATUM C

B1 B42

POSITION
A1 MARK

A1

DATUM E

DATUM C

DATUM F

A42

DATUM D

B1

B42 SEC  A-A

DATUM D

F

W
G

C

E
A

D

M1.6 SCREW SUBASSEMBLY (OPTIONAL)

CROSS HEAD TORX HEAD 

PROPOSAL DRAWING



A

1 2 3 4

D

A

B

C

D

1 2 3

 
2
0
2
1
 
A
m
p
h
e
n
o
l
 
C
o
r
p
o
r
a
t
i
o
n

C

4
Creo File:APH-A3C,REV B,2021-05-07

C

11.00

0�$�angular

0.XXX

linear 0.XXsurface

0.X

TOLERANCES UNLESS
OTHERWISE SPECIFIED

tolerance std

spec ref

sheet 2 of 4 product family

2cat. no.EDSFF 1x1, 7.805mm OFFSET, 84PIN ti
tl

e

rev
C MEX008430X01111dw

g 
no

 MINI COOL EDGE ORTHOGONAL 2PCS
projection

rel levelamphenol-icc.comappr

ecn norvwr

A32:1eng

size  scalemmMar.16,2022 Yunxdr

ASSEMBLY PROCESS:
 
   1. TO INSERT MINI COOL EDGE ORTHOGONAL 2PCS EDSFF INTO VERTICAL CONNECTOR

2. TO FIX WITH SCREWS

INSERTING DIRECTION

MULTI-PORTS ARRAY 

VERTICAL CONNECTOR
ME1008410101011

PCB

MINI COOL EDGE ORTHOGONAL PSC EDSFF
MEX008430501111

2xM1.60

PROPOSAL DRAWING



A

1 2 3 4

D

A

B

C

D

1 2 3

 
2
0
2
1
 
A
m
p
h
e
n
o
l
 
C
o
r
p
o
r
a
t
i
o
n

C

4
Creo File:APH-A3C,REV B,2021-05-07

C

0�$�angular

0.XXX

linear 0.XXsurface

0.X

TOLERANCES UNLESS
OTHERWISE SPECIFIED

tolerance std

spec ref

sheet 3 of 4 product family

2cat. no.EDSFF 1x1, 7.805mm OFFSET, 84PIN ti
tl

e

rev
C MEX008430X01111dw

g 
no

 MINI COOL EDGE ORTHOGONAL 2PCS
projection

rel levelamphenol-icc.comappr

ecn norvwr

A32:1eng

size  scalemmMar.16,2022 Yunxdr

A28
A27
A26
A25
A24
A23
A22
A21
A20
A19
A18
A17
A16
A15
A14
A13
A12
A11
A10
A9
A8
A7
A6
A5
A4
A3
A2
A1

INTERFACE SIDE FOOTPRINT SIDE

GND GND

SMBDAT

LED/ACTIVITY
PERST1#/CLKREQ#

REFCLKp1

GND GND

SCHEMATIC

A28
A27
A26
A25
A24
A23
A22
A21
A20
A19
A18
A17
A16
A15
A14
A13
A12
A11
A10
A9
A8
A7
A6
A5
A4
A3
A2
A1

SMBCLK

GND GND
REFCLKn1

PERp0

GND GND

PERn0

PERp1

GND GND

PERn1

PERp2

GND GND

PERn2

PERp3

GND GND

PERn3

SMBRST#

PRSNT0#

INTERFACE SIDE FOOTPRINT SIDE

SCHEMATIC

B28
B27
B26
B25
B24
B23
B22
B21
B20
B19
B18
B17
B16
B15
B14
B13
B12
B11
B10
B9
B8
B7
B6
B5
B4
B3
B2
B1

DUALPORTEN#
PERST0#

PWRDIS

REFCLKp0

GND GND

RFU

3.3Vaux

GND GND
REFCLKn0

PETp0

GND GND

PETn0

PETp1

GND GND

PETn1

PETp2

GND GND

PETn2

PETp3

GND GND

PETn3

B28
B27
B26
B25
B24
B23
B22
B21
B20
B19
B18
B17
B16
B15
B14
B13
B12
B11
B10
B9
B8
B7
B6
B5
B4
B3
B2
B1

12v

MFG

A29GND GND
A30
A31
A32GND GND
A33
A34
A35GND GND
A36
A37
A38GND GND
A39
A40
A41GND GND
A42

A29
A30
A31
A32
A33
A34
A35
A36
A37
A38
A39
A40
A41
A42

PERp4
PERn4

PERp5
PERn5

PERp6
PERn6

PERp7
PERn7

RFU

B29GND GND
B30
B31
B32GND GND
B33
B34
B35GND GND
B36
B37
B38GND GND
B39
B40
B41GND GND
B42

B29
B30
B31
B32
B33
B34
B35
B36
B37
B38
B39
B40
B41
B42

PETp4
PETn4

PETp5
PETn5

PETp6
PETn6

PETp7
PETn7

PRSNT1#PROPOSAL DRAWING



A

1 2 3 4

D

A

B

C

D

1 2 3

 
2
0
2
1
 
A
m
p
h
e
n
o
l
 
C
o
r
p
o
r
a
t
i
o
n

C

4
Creo File:APH-A3C,REV B,2021-05-07

C

0.1 DD GG CC

1.85 0.05

30.17 0.10

(
)

2.
58

4x  MIN2.55

 M
AX

5.
10

 M
AX

1.
60

 M
IN

5.
90

 M
IN

9.
40

1.57 0.13

8x
0.
62

0.
13

30�$�5�$�

0.
88

0.
13

(
)

0.
10

3.
00

0.
13

1.
28

0.
13

0.1 DD GG FF

0.38 0.05

2x
 M
IN

6.
00

 M
IN

7.
00

4x 0.75 0.13

4x 45�$�5�$�( )19.285 ( )10.885

( )1.08

2.00518.205

( )1.08

4.20

0.60

1.55 3.76

31.35

32.90

( )38.44

1.32

20.03

22.03

1.82

84x

0.05 W-V

0.35 0.05

4.12 0.13

84
x

0.
1

W-
V

1.
20

0.
05

3x

0.
1

W-
V

2.
45

0.
05

(
)

7.
20

 0.1 W

1.10 0.05

3x  PTH

0.1 W-V

1.10 0.05

0.60

0.60

2x�n�

0.1 W-V

2.00 0.05

1.10 0.05

1.
75

4.
05

0.
55

3.
90

7.
40

0�$�angular

0.XXX

linear 0.XXsurface

0.X

TOLERANCES UNLESS
OTHERWISE SPECIFIED

tolerance std

spec ref

sheet 4 of 4 product family

2cat. no.EDSFF 1x1, 7.805mm OFFSET, 84PIN ti
tl

e

rev
C MEX008430X01111dw

g 
no

 MINI COOL EDGE ORTHOGONAL 2PCS
projection

rel levelamphenol-icc.comappr

ecn norvwr

A32:1eng

size  scalemmMar.16,2022 Yunxdr

RECOMMENDED AIC  MATING CARD

RECOMMEND PCB LAYOUT

DATUM CC DATUM FF

B1 B42 SEE DETAIL A

DETAIL  A
SCALE  10:1

SPLIT PADS
OPTIONAL

CONTACT POINT
REFERENCE  LINE

A42 A1

A1
A42

B1 B42

PCB EDGE

SEE DETAIL B
DETAIL  B
SCALE 4:1

METAL SHELL
CONTACT AREA

NO TRACE

CC

DD

GG

V
W

FF

PROPOSAL DRAWING


	页面 1
	视图
	new_view_1
	左边_2
	顶部_3
	顶部_4


	页面 2
	视图
	new_view_24
	new_view_22
	new_view_23
	new_view_24_25


	页面 3
	页面 4
	视图
	new_view_11
	右边_12
	A
	右边_14
	new_view_16
	B





